Case No. 12-M-0476 et al.
EDI Business/Technical Working Groups
NYS Sales Tax Changes —

Elimination Of Delivery Sales Tax Exemption For Customers Taking ESCO Service

Semment:
Position:
Loop:

Level:

Usage:

Mfax Use:
Purpose:
Syntax Notes:

Semantic Notes:

Comments:
Notes:
Eef.
Des.
Alamd. TXIN1
Alust Use TXI02
Optional TXI03
Must Uze TXIOT
Opticnal TXI0S
MEI0SE v2.3 (004010)
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NY810 Invoice — Single Retailer

TXI Tax Information

0440
1Tl

Optional (Must Use)

Detail
To specify tax mformation

1

Pl B L B )

At least one of THI02 THI0S or THIDE 15 requved.

If eather THI04 or TZI05 15 present, then the other 15 required.

If TZI08 15 present, then TI03 15 required.

T2I02 15 the monetary amownt of the tax

T3I03 15 the tax percent expressed as a decinal.

T2I07 15 a code indicating the relationship of the price or amount to the associated segment.

Fequired when taxes have been apphed at the level defined m IT109.

THI~L5~12.00-06~—~a-~200

94 Percent

662 Relationship Code

Diata Element Summary

Dhata
Flement Name Attributes

963 M ID22
GER Gross Fecerpts Tax
1s State and Local Sales Tax
PG State or Provineial Tax on Goods

Gas Inpeort Tax

SC School Tax

782 Monetary Amount X ELl18

Calenlated Tax Amount.

If negatrve, this amount mmst be preceded by a negative sign. If 2 decirmal pomnt
1z needed, the decimal point 15 not imphied and nmst be sent in the transacton.
X EL10

Percent or Fate presented as a decomal, ez, 6% will be expressed as .06

If negatrve, this amount mmst be preceded by a negative sign. If 3 decimal pomt
iz needed the decimal peint 1= not implied and nmst be sent in the transacton.
O ID11
A Add
The amownt in the TXI02 15 included when swmmes the
mverce total in TDSE01. "A" may also be used when
commectng previoushy reported amounts where a credit

ameamt appears m T3I02.
Q Information Cnly
The amoumt in the THI02 15 1gnored when sunmmng the
mverce total in TDS01.
318 Drollar Baziz For Percent O ERL%
Diollar amount or volune that the percentage m THI03 is bemg applied against

to determne the total tax im THIOZ.
The amount sent in TXI0E nmltiphed by the percent m THI03 should equal the

caleulated tax amount sent in THI02. If negatme, this ameunt must be

precedad by 3 negative sign. If 3 decomal point 15 meeded . the decimal point 1=
not imphied and st be sent mn the transaction.
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